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I- Group1l: 1 -7
I1- Group2: 8 - 13
I11- Group 3: 14-24
IV- Group 4: 25-33
V- Group5: 34-38
VI1- Group 6: composition
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Groupl From 1-7
Model answers: (1-3)
1- Plants / They are (always) in danger from animals which want to feed on their
roots, / trunks, / leaves.
— Because animals want to feed / feed on them / on their roots, / trunks, /
leaves and other parts.
2- (Cactuses / They preserve / keep water / it) in their stems.
(N.B): If the student writes (on their stems) or (stems), deduct 2 marks.
3- (The sticky substance is so strong that) insects' feet or wings get stuck and they
cannot escape.
— (The sticky substance is so strong that) insects' feet or wings get stuck.
— Insects' feet or wings get stuck by the sticky substance (and they cannot escape).
(N.B): If the student writes only (It can prevent insects from eating them),deduct 3 marks.
Remarks from (1-3)
(N.B): - Information between brackets is optional.
1- Each item is allotted 6 marks.
2- Overlook irrelevant information unless it exceeds one sentence. If so, the
answer rates zero.
3- Overlook copying, grammar and spelling mistakes and capitalization.

4- Any logical answer related to the text is accepted.

Model answers from (4-5)

4- seed(s)

5- hurt

Remarks from (4-5)

1- Each item is allotted 5 marks.

2- Only the above mentioned answers are accepted.

3- Overlook capitalization and copying mistakes unless they give rise to another
word. If so, the answer rates zero.

4- If the student writes two answers for the same item, consider the first.
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Model answers from (6-7)

6- Sharp thorns protect cactuses from animals.

- Ants protect acacia trees from animals.

7- The poison is found in the leaves, the seeds or berries, or in other parts of the plant.
— One of the places where poison can be found is in the leaves / roots / seeds / berries.

— The poison can also be found in other parts like seeds...etc.
(N.B) If the student writes the sentence using the negative form, his answer rates zero.

Remarks from (6-7)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical answer.

3- Overlook spelling, grammar, copying mistakes and capitalization.

4- If the student writes only the correction without rewriting the whole sentence, his

answer rates 3 marks.
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Group 2 From 8-13

Model answers (8-9)
8- b /smaller than
9- ¢/ very safe
Remarks from (8-9)
1- Each item is allotted 6 marks.
2- Either the letter or the complete answer is accepted or both.
3- If the student writes two answers for the same item, consider the first.
4- Overlook copying mistakes.
(N.B): - If the student writes only the first word of the correct answer,
his answer rates full mark.
Model answers (10-11)
10- convert
11- familiar
Remarks from (10-11)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.
4- If the student writes two answers for the same item, his answer rates zero even if
one of them is correct.
Model answers (12-13)
12 .. email / text a shopping list to the (nearest) market (when it is empty).
- email / text the (nearest) market.
- send a message / a text to the market.
(N.B) — If the student writes (email a shopping list), deduct 2 marks.
— If the student writes the full answer without the verb (email), deduct 2 marks.
13- electronics, computers and information theory.
(N.B) — The student must at least write two items, otherwise deduct 2 marks.
Remarks from (12-13)
1- Each item is allotted 6 marks.
2- The above mentioned answers are accepted in addition to any logical
completion related to the text.
3- Overlook grammar, copying and spelling mistakes.
4- Any addition or omission that doesn't make distortion is overlooked.
5- Any addition or omission that makes distortion, deduct 1 mark.
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Group 3 From 14-24

Model answers (14-16)

14- the/ that

(N.B): - If the student writes (this), his answer rates 4 marks.
15- and/ then

16- was

(N.B): - If the student writes (were), his answer rates 3 marks.
Remarks from (14-16)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked, unless they give rise to new words.

If so, the answer rates zero.

4- If the student writes two answers for the same question, consider the first.

Model answers (17-20)

17- famous
18- mind
19- honours
20- later

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)
21- Where does your father work?
- What does your father do (for a living)?
- What is your father's job / career / profession / business?
- In what / which place does your father work?
- Where does your father work for an oil company?
- Who works for an oil company (in Homs)?
- Who / What does your father work for?
- For whom does your father work ?
- What does your father work as?
(N.B): - If the student writes (What does your father work? / What is your father's work?),
deduct 2 marks.
22- How long have you been (living) there?
- For how many years have you been (living) there?
- For how much time / since when have you been (living) there?
23- Why / For what reason did you come to Damascus?
- What is the reason for coming to / visiting Damascus?

What made you come to Damascus?

Why are you here / in Damascus?

Who(m) did you come to see (in Damascus)?

24-  (Answers vary)

(N.B): - If the student writes (three times / twice / once) only, deduct 2 marks.

Remarks from (21-24)

1- Each item is allotted 8 marks.

2- Deduct 2 marks for wrong question word/ word cluster.

3- If the student writes a wrong question word with more than one grammar
mistake, the answer rates zero.

4- Deduct 2 marks for a grammar mistake provided that the total deduction
shouldn't exceed 4 marks.

5- If the student writes two questions for the same answer, consider the first.

6- Overlook capitalization and spelling mistakes.
7- If the student writes the correct question word only, his answer rates 2 marks.
8- Any logical question or answer related to the dialogue is accepted.
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Group 4 From 25-33

Model answers (25-28)

25- Three letters have been written by Laila (this evening).
(N.B) - The first three steps to form the passive are required, otherwise the answer
rates zero.
- Deduct 2 marks if the student doesn't write the agent (by Laila).

26- (I wish) we spent / did spend / would spend / could spend much / more / enough
time together.
- (I'wish) we did / would / could.
- (I wish) we had much / more time together.
27- (He asked her) when she had started her new job.

28- She had her glasses mended.
(N.B) - The four steps to form the causative are required, otherwise the answer rates zero.
- If the student uses the negative form, deduct 2 marks.

Remarks from (25-28)
1- Each item is allotted 8 marks.
2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks if the sentence still makes sense.
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Model answers (29-30)

29- ... (answers vary)
30- ....... (answers vary) (present simple — future — modals)

Remarks from (29-30)
1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically

correct.
3- Deduct 1 mark for any grammar mistake.

4- Overlook spelling mistakes unless they give rise to another meaning.

If so, deduct 1 mark.

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks

if the completion still makes sense.
5- Overlook punctuation marks.
6- Any logical completion is accepted.
7- The clause must contain a subject and a verb. If not, the answer rates zero.

Model answers (31-33)

31- SO
32- hit
33- do

Remarks from (31-33)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes.

4- Two answers for the same number rates zero
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Group 5 From 34-38

Model answers (34-36)

34- was driving

35- will move / is / are going to move / is / are moving
36- would / could / might / should buy

Remarks from (34-36)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark.

4- Complete (verb forms) are required, otherwise the answer rates zero.

5- In case the student writes two answers for the same number, consider the first.
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Model answer (37)
LALB Gl Alglii die [ (bl alinal L e cpdlsl) el -37
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Remarks for (37)

1- The item is allotted 10 marks.

2- The sentence is divided into 2 units. The first unit is allotted 6 marks and the
second unit is allotted 4 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for:
- a missing or wrongly translated word

- a grammar mistake

(N.B) - the total deduction for both grammar and spelling should not exceed 3

marks if the translation still makes sense.

5- Any other logical translation is accepted.
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Model answer (38)

38- Wood is used / in building / and making furniture.

- We use wood / in building / and making furniture.

- is used: is utilized

- used in: used for

- use: utilize

- building: construction

- We: People

- making furniture: furnishing industry / the fabrication of furniture /
fabricating furniture.

Remarks for (38)

1- The item is allotted 8 marks.

2- The sentence is divided into 3 units. The first unit is allotted 3 marks. The

second unit is allotted 2 marks. The third unit is allotted 3 marks.

3- Each unit is treated separately.

4- Deduct 1 mark for:
- a missing or wrongly translated word
- a grammar mistake

- a spelling mistake if it gives rise to a new meaning.

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks

if the translation still makes sense.

5- Any other logical translation is accepted.
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make
first reading to the whole paragraph to figure out if it is relevant to the topic
or not.
3-If a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
Each field is allotted 10 marks. (7 marks for spelling and 3 marks for punctuation)
b- A paragraph between 60-69 words rates (45 marks).
Each field is allotted 9 marks. (6 marks for spelling and 3 marks for punctuation)
c- A paragraph between 50-59 words rates (40 marks).
Each field is allotted 8 marks. (5 marks for spelling and 3 marks for punctuation)
d- A paragraph between 40-49 words rates (35 marks).
Each field is allotted 7 marks. (4 marks for spelling and 3 marks for punctuation)
e- a paragraph between 30-39 words rates (25 marks).
Each field is allotted 5 marks. (3 marks for spelling and 2 marks for punctuation)
f- A paragraph between 20-29 words rates (20 marks)
Each field is allotted 4 marks. (3 marks for spelling and 1 marks for punctuation)
g- If the student writes less than 20 words, give 5 marks for each correct
relevant sentence.
N.B. - Overlook the first two spelling mistakes and the first grammar
mistake; then deduct one mark for each mistake.
- Overlook the first two wrong or missing punctuation marks or wrong
capitalization; then deduct one mark for each mistake.
- If the student writes the composition in the form of a letter or an email,
it is accepted.
- If the student writes recommendations to have more places to keep
fit, the composition rates zero.

5- The following chart shows the distribution of the (50 marks):
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5
F

Communication

Spelling and
punctuation

Vocabulary

Grammar

Task response

outstanding
communication; clear,
coherent and well-
organised text with
complex language when
appropriate.

extremely accurate
spelling and
punctuation in simple
and complex language.

very wide range of
accurate and
appropriate vocabulary
required for the task.

very wide range of
accurate and
appropriate grammar
required for the task.

the task response is
comprehensive, relevant
and well-developed.

(10 marks)

(10 marks)

(10 marks)

(10 marks)

(10 marks)

meaning is clear and
easy to understand,;
good organization.

good punctuation and
spelling; errors may
occur in complex
language.

a good range of
vocabulary; few errors
occur except in complex
vocabulary.

a good range of
grammar usage; few
errors occur except in
complex structures.

response is wholly
relevant but is partially
developed or not fully
exploited.

(9 marks)

(9 marks)

(9 marks)

(9 marks)

(9 marks)

overall meaning is
conveyed with some
errors but without
undue problems for the
reader

errors of punctuation
and spelling occur but
don't cause undue
problems for the reader.

adequate knowledge of
a range of the
vocabulary items
required to carry out the
task.

adequate knowledge of
a range of the grammar;
more accurate than
inaccurate.

largely relevant
response but without
much development or
with some irrelevance.

(8 marks)

(8 marks)

(8 marks)

(8 marks)

(8 marks)

meaning is only
conveyed with
significant effort on the
part of the reader.

errors of punctuation
and spelling create
problems for the reader.

some vocabulary
knowledge but frequent
errors or gaps mean
vocabulary is
insufficient for the task.

some grammar
knowledge but frequent
errors or gaps mean
grammar is insufficient
for the task.

some relevant response
to the task, though at
times the task appears
not to have been
understood.

(7 marks)

(7 marks)

(7 marks)

(7 marks)

(7 marks)

No response or response
insufficient to grade.

No response or response
insufficient to grade.

NO response or response
insufficient to grade.

No response or response
insufficient to grade.

No response or response
insufficient to grade.

ZEero

ZEero

Zero

Zero

Zero

N.B. Deduct 1 mark once for the same repeated mistakes.
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